A

A LLUL&E S =3 D S5HLEN FARVWNA 37

EFHETDIBET BF4E L RFTENFLT WET, =The overseas student and the

salesperson are talking at the electronic dictionary section.
* 55 D 15 = place where things are sold, point of sale, POS, sales floor, counter (in shop)

F:

HD>S. =err,/

ThU U._;_L' & . Lo . . .

B F##E % = electronic dictionary + %Z <direct-object particle> /

ah

FRUT % =8 LT L% = <plain-style-nonpast-affirmative> of #28 L C L\& 3 = be searching

now
*#R U £ 9 g1 = search, look for, seek

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to . /

[7&E, =1but 2 <used to show a hesitation> //

Errr, | am looking for a electronic dictionary.

A TN EZEL\ H D T, = It should be as cheap as possible and ....

* 785X < =as much as possible

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used .

We call them te-form of an adjective and a noun.

To join adjectives, we also use te-form of an adjective.

And it is sometimes used to show reason as well. te-form of an adjective and a noun can be
used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. //
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HASZE DR for (the purpose of) studying Japanese /

13%\\/\ fz L\ = <plain-style-nonpast-affirmative> of £\ 7=\\TJ = want to use /

%: <quotation particle> /

%'JTO =BWHUT, £LT. =Ilthoughtand ......

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. //

| thought that | wanted to use it for studying Japanese, so ....

Z>5TIh, =Isee.lsthat so? //

A A &L =let me see, let me think, well /

ZN T, =then, if that is the case /

55D uﬁ%@ ﬁﬁ?b‘ = this No.1 dictionary + h' <subject particle>
*Here 55 O is used to mean Z O (this ~) and it is a polite expression. /
;E';% E‘\,\ bPiﬁj:%':h = the cheapest product

* i = merchandise, commodity, ware, article of commerce, goods, stock /
I
73> 7T WET =be becoming now

* [stem of i-adjective] < 7D £ T ; [na-adjective] IC & D ¥J = become [adjective]
* [noun] IC 7& D F¥9 = become [noun] /

H =1 but 2 <used to show a hesitation> /

1‘2% Eld B X 'O < » D F¥FH Ao =functions are not so many //

Let me see, then, this No.1 dictionary is the cheapest one, but it has not many functions.

ICiEA

55 D 2%&ld. =this No.2 electronic dictionary + & <topic particle> /
/J UUTh
?ﬁe;ﬂ Z =in the Kanji dictionary /
MA L LEE D5

%%wn"ﬂ%ﬁ HY = Kaniji recognition function + A' <subject particle> /

DVWTT, =2WT WT, =2WT WEXT, £LT. =(X)is attached and ......

* DE XTI =be attached

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
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* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
lch =
ASDY H D £, =be popular //

Regarding this No.2 dictionary, its Kanji dictionary comes with the Kanji recognition function and
it is very popular.

M:

[FU\ =Yes/

fEnzhy 73‘7;:5 BIF - Z)_:_._/u'_.l; . . .

KED FEUHI BZT WERWIEFTH, = even the Kanji which (X) memorize only the rough
shape of

* <L is always used with the negative, but the meaning of the whole sentence containing U
M is the affirmative in English. Example: nihin-go shika wakarimasen = | understand only

Japanese.>

* 22T LR L) = <plain-style-nonpast-negative> of = 2T L &K 9 = be memorizing now
*®H X £9 g2 = memorize, remember

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
%E%%‘C = simply /

%JI%’\“% Z &Nt TE S = <plain-style-nonpast-affirmative> of A X5 &M TEXT can
check, be able to check

* S\ % = <plain-style-nonpast-affirmative> of 5§\ % 9" g2 = check

* [dictionary-form] Z & Y TEF 9 =can do ~, be able todo ~ /

ATT, =][plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] AL T =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to M. //

Yes, we can check (search) even the Kanji which we remember only the rough shape of.
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S hiEA B DS

3&FD BAUERED DU T WLWT. =Regarding the No.3 dictionary, the same function is attached

and .....
*DOWT WT, =2DWT WEXY, £UT, =(X)is attached and ......

* DE X = be attached
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
3 &. =in addition to that, /

NY A TE%#TZﬁ% = Katakana words dictionary + % (also) /

%;H*wa‘c W3 ¥4 7T3 =(X)is the type that (Y) is full and enriching

* 7832 LT L3 = <plain-style-nonpast-affirmative> of 7858 LT L\ 9" = be full and enriching
* 7832 L £ 9 g3 = become full and enriching

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

o =....,isN'tit? ; ....., am | right? <confirmation particle> //

The No.3 dictionary also comes with the same function, and in addition to that, it is the type that
Katakana words dictionary is really good.

% & 1E. =in addition to that, /

g feh

DU &< D £ =become a little expensive /
[7E. =1but 2 <used to show a hesitation> /

SARA

Z D 4 #(J = this No.4 + [ <topic particle> /

%L: = furthermore, again, after all, more and more, moreover, even more /

Qﬁ%%@ %%b“ = the pronunciation of a word + A <direct-object particle for the potential-verb> /
F'EEJH% O Eo2TWT, =@F25 £DICE>TWEY, £ULT. =have reached the point
where (X) can listen and .....

* %Hé = <plain-style-nonpast-affirmative> of & (3 & 9 (can listen, be able to listen) which is
the potential-verb of Bl = &9 g1 (listen, hear, ask)

* [dictionary-form] & D IC & D E 9 = reach the point where (X) do ~

* [nai-form &L\ — 72 <] 7& D ¥9 = reach the point where (X) don’t do ~

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

5\2%% N F9 =(X)is popular /

&Ko =...., you know? ; ..... [ tell you. ; ....., | am convinced. //
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In addition to that, it becomes a little expensive, but this No.4 dictionary has reached point
where you can listen to the pronunciation of the word and it is very popular.

Jir T

—Hh. =hmm, well, /

Uh A ST . & - .. - .

EFRHMSEE I RS £ 5 T9 12, =The Kanji recognition function looks good.

* [masu-form / stem of i-adjective / stem of na-adjective] > T9J =it looks like that ~, (X) is
going to do ~ at any moment

Y WWTT — & TF 5T ((X) looks good) //

FoHA
FE (& = pronunciation + (& <topic particle> /

= =
E772 < TH LW\ = <plain-style-nonpast-affirmative> of B 7 7& < TH LWWTT = (X) don't

mind even if (X) cannot listen
* [nai-form &L — 72 < T] H WLWWTT =even if (X) don’t do ~, it is OK. ; don’t have to do ~;

don’t need to do ~
* T F£9 = can listen, be able to listen = potential-verb of = £ 9 g1 (listen, hear, ask) /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A can be changed to .

IFE, = 17byt 2 <used to show a hesitation> /

HhEHh f%%gﬁ{ﬁtat = Katakana words dictionary + & <topic particle> /

Ho1c5 =if there is ~

* 8 o fc = <plain-style-nonpast-affirmative> of & D &9 g1 (there is ~, have, exist)

* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /

f@%ﬂ?“"@" = (X) is convenient /

Ro =....,isntit? ; ..... , am | right? <confirmation particle> //

| don’t mind even if | cannot listen to a pronunciation, but it is convenient if there is the Katakana
words dictionary.

U . =then, if that is the case, /
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Zn i ULEY, =1buy this. ;| take this.
* (A) % [stem of i-adjective] < UL X T, (A) Z [stem of na-adjective] IC L ¥J = make (A)

[adjective]
*(A) Z [noun] IC UL EX 9 =make (A) [noun]

* [noun] [ U E¥ 9 = decide on [noun], choose [noun], order [noun] //

D SHMRIEN

ThULULU& hH
BRAEEF EDBETFHEZ ES & IT LUK He =Which electronic dictionary did the

overseas student decide to boy?
* B D = <plain-style-nonpast-affirmative> of EL\E 9 g1 (buy)

* [dictionary-form / nai-form] Z & (C U &9 = decide to do ~ ; decide not to do ~ //

DEFHE
p)
2BEDEFHE
3
SEDETHE
4
ABDEFHE
2%

Shlch 1373

<
KIE=ZADY Ry MZTDWT EELT WEKT, = Family members (three) are talking about a pet.

W »

F< h
hztz. . KEW W AT, =Hey, | want to keep a pet.
H
* L\ 72 LY = <plain-style-nonpast-affirmative> of &L\ 72 L\"TJ = want to keep (a pet or other

animal), want to raise, want to have, want to own, want to feed
* [masu-form] 72zL\C9 = want to do ~

* ATZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A T’ =
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...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A can be changed to @. //

h
B> THWL? = <plain-style> of &> TH LW\WT I H =May | keep (a pet)?
*BAL\E 9 g1 = keep (a pet or other animal), raise, have, own, feed

* [te-form] H WLWL\TJ =may do ~, itis OKto do ~ //

M2:
S—h. KD, = Hmm (Well), dog?, hmm.

F:
12126, =cannot.

* 126 =1 no good, not serving its purpose, useless, broken

2 hopeless, wasted, in vain, purposeless
3 cannot, must not, not allowed

Wb

RK>T =K &WS D & =the thing called dog

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)

YAgAgAQkeAs

* 57C = & <quotation particle>

* - 7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~’, “They

say that ~, People say that ~’, ‘(X) say that ~’.

* We often use ~ - T or ~ & W5 DI to indicates the thing which we don’t know about much

before asking a question.

* We also often use ~ > 7T or ~ & L\ 5 DI to make the topic (what you are going to talk

about) very clear.

TR
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2z < Wo L &
Ik & —#& = the same as a family member /

% D =18 ATZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective /
noun] da’ becomes ‘na’.)] AL T3’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;
because ..... -

A can be changed to @. /
&Ko =...., you know? ; ..... [ tell you. ; ....., | am convinced. //

Wt e H

—E f->725. =once (X) keep (a pet) and then ...

* &5 - fc = <plain-style-nonpast-affirmative> of &J\L\X 9" g1 (keep (a pet or other animal), raise,
have, own, feed)

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /

E595
¥RHT =1 on the way, en route 2 in the middle of, midway /

PH D HIFITIE WHIRUY = <plain-style-nonpast-affirmative> of Y25 HIFICId WEXREA =

(X) cannot stop (because he has a reason)
* P & % = <plain-style-nonpast-affirmative> of ¥ & £ 9 g2 = stop, cease, give up, resign

* [dictionary-form] 1o (7 (T (& LWE £ A = cannot do ~ because there is a reason (N2 No.44) /
D = A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{{na-adjective / noun] da
becomes ‘na’.)] A T =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A can be changed to @. /

b

&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

Once you keep a dog, and then you cannot stop keeping it in the middle.

M1:
1F< T b
EN BEp A& HEET S H5, =Because | will take care of it properly, (please let me keep it)
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* #3559 % = <plain-style-nonpast-affirmative> of {55 U &£ 9 g3 = take care of, look after //

A
at

=but/

=, isntit? , am | right? <confirmation particle> /

ago, before, previously /

LY & L L\ = <plain-style-nonpast-affirmative> of &L \\ T = want ~ /

U BRIy
I

Jd A C

o = & <quotation particle> /
T=F>2fo #LT. =(X)said ~and ......
* & o fc = said = <plain-style-past-affirmative> of SLNE 9 g1 (say) /

-

\

[

ﬁbﬂ > fc = kept (a pet) = <plain-style-past-affirmative> of &L\K 9™ g1 (keep (a pet or other
animal), raise, have, own, feed) /

%ETC = <plain-style-nonpast-affirmative> of &£ T = (X) is a goldfish /

27T, =[noun] 72> 7T =even ~

FoE &<
f&=. = after all, eventually, finally, after everything else /

g =now /

%b“ = who + H' <subject particle> /

% = feed, bait + Z <direct-object particle> /

HIFT % = HIF T LB = <plain-style-nonpast-affirmative> of & 7T LN\E T = be giving now
*HIFEI g2 =give/

/i

But, regarding even the goldfish which you kept before because you said that you wanted it
repeatedly, after all, who is feeding it now?

M1:
hH
S Ao =Mummy. //

72>, =because ~ /

%Eo T=%8 &> D & =the thing called a goldfish

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)

PAQAQA QA gk ¢

* 57C = & <quotation particle>
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* ©7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~’, “They
say that ~, People say that ~’, ‘(X) say that ~’.
* We often use ~ - T or ~ & WL\ 5 DI to indicates the thing which we don’t know about much

before asking a question.
* We also often use ~ - 7T or ~ & L\ 5 DI to make the topic (what you are going to talk

about) very clear.

PAQAQAR%9AS

Wo L &

—i#&IC = together /

%_%’\“732 L\ = cannot play, be not able to play = <plain-style-nonpast-negatuve> of /X & 9 (can
play, be able to play) which is the potential-verb of #U'E 9 g1 (play) /

M5, =because ~ //

Because | cannot play with a goldfish together.

27 = 7 = this time for sure

* % = for sure (emphasize preceding word) (N2 No.59) /

Eph & HHEET S H5, =because (X) take care of it properly

* {559 % = <plain-style-nonpast-affirmative> of 5% L & 9 g3 = take care of it, look after /

Because | will take care of it this time for sure.

S5—A. =hmm, well, /

Fd. =you might say /

?S%Eé A~ &, = father + [& <topic particle> /

Lj\g’& ﬁ%'B Z & =to keep a dog, keeping a dog

* 81> = <plain-style-nonpast-affirmative> of &JL\E J g1 ((keep (a pet or other animal), raise,

have, own, feed)
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
(c/

|& <topic particle> /
AW

B2 = <plain-style-nonpast-affirmative> of T = (X) agree to (with) ~ /

&Ko =...., you know? ; ..... [ tell you. ; ....., | am convinced. //
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Hmm, | agree that you keep a dog.

BT H W T

O 3 = playmate, playfellow /

[C
73> T < N5 = <plain-style-nonpast-affirmative> of 72 > T <1 FX 9 = (X) become ~ and (X)

give me a favor
* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D £J = become [adjective]

* [noun] IC 7& D ¥ 9 =become [noun]
* [te-form] < 11 EX 9 = (X) do ~ and (X) give me a favor /
123 5 = <plain-style> of ‘[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TL &5’ =

‘1 Probably ....... 2 e , right?
Uo =|[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~

<often used to list reasons> ¢ We can use the polite-style right before U to be more polite. //

Probably it will become your playmate, and what’s more ....

M1:

FhES

A ? =Really? //

M2:
S A = Yes.
(X< U;iwh“ . .
TH, —D FHMN $H5 AT, =Butl have one condition.
* 3 % = <plain-style-nonpast-affirmative> of 6 D &9 g1 (there is ~, have, exist) /
* ATZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A T =
...... , | wonder ;
...... , | doubt ;
...... , | want to draw your attention ;
...... , | want to emphasize ;
...... , | really want to say so ;

because .....
— A can be changed to @. //

M1:
U&SFA
&t ? = Condition? //
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M2:
S ho =Yes. /

F9. = first of all /

%gﬁ‘j@ 1*3“:.%%2 Eph& % &, =You should take care of a goldfish properly.

* {55 % 9% = <plain-style-nonpast-affirmative> of 1H5%(%) U £ 9 g3 = take care of, look after
* [dictionary-form / nai-form] Z & (72). =<1 used to show a command and an order 2 used

when you recommend that it is important (N2 No.160)> //

FhhH TE 5 =if (X) can do that

* T & fc = <plain-style-past-affirmative> of TZ X9 sg2 =1 can do, be able to do 2 be ready,
be completed, be finished /

ﬁ] > TH LI\ = <plain-style-nonpast-affirmative> of 8> TH L\L\TI = may keep (a pet)
*BAWL\E 9 g1 = keep (a pet or other animal), raise, have, own, feed

* [te-form]  WLWWL\TF =may do ~, it is OK to do ~ /

&Ko =...., you know? ; ..... I tell you. ; ..... , | am convinced. //

If you can do that, you may keep a dog.

EAEL

BREOD 1@.:%75\ TZE 7R\ = cannot take care of a goldfish
* TZE &\ = cannot do = <plain-style-nonpast-negative> of T& 9 sg2 = 1 can do, be able to

do 2 be ready, be completed, be finished /
DI, = [plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] M(c = 1 although ~,

in spite of ~ 2 in orderto ~/
RDHEEN TE S = can take care of a dog
* T&E % = can do = <plain-style-nonpast-affirmative> of TZ &9 sg2 = 1 can do, be able to do

2 be ready, be completed, be finished /
&9 2L\ = <plain-style> of [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘{noun] da’ becomes

‘na’ and ‘no’ respectively)] (£3°(H%) &% D FH A =it is impossible that ~ /
M5 =because ~
7%, =<used to convince oneself> //
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It is impossible that you can take care of a dog in spite of the fact that you cannot take care of a
goldfish.

M1:
ko)
M > 7Tz =understood = <plain-style-past-affirmative> of 7H)'D £9 g1 (understand) //

g
ﬁ%\ = I/

B IE _

TER->C =18k S, £ULT. =doone’sbestand ...

* JH5R % = <plain-style-nonpast-affirmative> of i85k D £ 9 g1 = do one’s best /

T b

#5595 = <plain-style-nonpast-affirmative> of 5% U & 9~ g3 = take care of, look after

&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

| will do my best to take care of it.

N6, =ifso,/

BEEA b = mother + (also) /

LU = <plain-style-nonpast-affirmative> of L\W\T9 = (X) is good /

TU & 7 =[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TL & 2> =1
Probably ....... 2 e , right? //

If so, Mummy, you are also OK, right?

F:
% 512, = <plain-style-nonpast-affirmative> of > T9J 13, = Let me see. ; Let me think. ;

That’s right. ; | agree with you. /
U & DD 780\ = <plain-style> of UL &S H 3 D £ A = It cannot be helped.; nothing can be

done. /
1 = <used to show assertion, emotion or admiration, and used by a female> /

o =....,isN'tit? ; ....., am | right? <confirmation particle> //

Let me see, it cannot be helped.

D&S5ULA

=
MEFIF ES T8 &I HROFE LD = What did the parents decide to do?
* 9 % = <plain-style-nonpast-affirmative> of L &9 g3 =do
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=
* [dictionary-form] Z & (T iR X9 = decide to do ~ //

feWAA (A

1'2‘;.%75\ KERDT, R E—_l;bf&b\ It is very tough to take care if a dog, so they don'’t keep it.
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be

more formal.
* B 78U\ = don’t keep (a pet) = <plain-style-nonpast-negative> of &L\E 9 g1 ((keep (a pet or

other animal), raise, have, own, feed) /

2
kingyo

9Tl RN WD DT, j( =8 ﬁ?bab\ = There is already a goldfish, so they don’t keep a dog.

* L\ % = <plain-style-nonpast-affirmative> of L\& 9 g1 (there is ~, have, exist, stay)
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~ / *
Basically we use the plain-style right before ‘O C’, however, we can use the polite-style to be

more formal.
* B 7L\ = don’t keep (a pet) = <plain-style-nonpast-negative> of 8L\EK 9™ g1 ((keep (a pet or

other animal), raise, have, own, feed) /

ZED Wo U & HZ Wb

h
FHD —FElC #EXRDB DT, I<IC K% 8> =The child can play with a dog, so they keep a

dog immediately.
* 2\ % = <plain-style-nonpast-affirmative> of #2/X & 9 (can play, be able to play) which is the

potential-verb of VX 9 g1 (play)
* &> = <plain-style-nonpast-affirmative> of &JL\& 9" g1 ((keep (a pet or other animal), raise,
have, own, feed) /

4
ZED /\ﬁé; & (A h

FHIC FRAD ﬁnﬁb\ TEbH. jt%fﬂ > = If the child can take cafe of a goldfish, they keep a
dog.

* T & fc = <plain-style-past-affirmative> of TZ X9 sg2 =1 can do, be able to do 2 be ready,

be completed, be finished
* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell

you what happened
* &1 = <plain-style-nonpast-affirmative> of &L\& 3" g1 ((keep (a pet or other animal), raise,

have, own, feed) /

14/25



3T

U &5H0
ZIAT TLEYRNTBCDD Bz LT WET, =0n the radio, (the woman) is introducing
the CD which she will present.

F1:

A—. =errm,/

Tl _then of that is the case /
FA < H

ElENS OS5 EI D 7LEYNTY, =ltis today’s present from the radio program.
Let me introduce today’s present from the radio program. //

ERS FAFEL LS50

204 CD% 48 cHELE L, =1 prepared four CDs today.
* ZTHRUEX Y = humble-verb of BE U £9 = prepare, make ready
* & [masu-form] U ¥ 9 g3 = humble-verb //

W5 FL FABDHL hfc

FNZEN18. 42DAHIC 7LEY MULEYD, =1present CDs to four persons. One person

will get one CD respectively. 8-

W& U &5H0

SHho CTRAMLET 0T 0 Lm% < F2EWe =1 will introduce from now, so please

apply by all means.
BN U E£ 9 = humble-verb of 8/ L £ 9 = introduce

* & [masu-form] U £ 9 g3 = humble-verb Y& We use < instead of & for some verbs.
ChE LIEEIWVW=IG8LT <f£& L\, =please apply /
Z—. =errm,/

W5 E A&

1 #H (& = The first CD + (& <topic particle> /
T2y ’7 0) %;ai = classical music /
7/ ,,\ﬁbh HD TI, =(X)is the thing which (Y) played with a piano
*JEZ= U fz = played = <plain-style-past-affirmative> of j&Z= U £ 9 (play, make music with a

musical instrument) //

The first CD is the one that they played classical music with a piano.
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ﬁ%?b\ VAN ﬁb\ 2 LN DT, = because there are many pieces of quiet music,
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because ~
* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be
more formal. /
%ﬁi = | + [ <topic particle>/
15Z = nlght /
426 HU i = before sleeping
* 2% = <plain-style-nonpast-affirmative> of £ X 9" g2 = sleep
* [dictionary-form] & Z_IC = before doing ~
J: < =often/
Ei‘E\L\‘C L% = <plain-style-nonpast-affirmative> of F&\L\T L\E 9 = be listening now
*FEE £ 9 g1 =listen
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @. /

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

Because this CD contains many pieces of quiet music, | often listen to it before | sleep.

oF A 0 HhZLBADK few n5o& Al

R, 2&BIE. RO RIEEXEZ €D i’@i‘k@ AT Bi 58 < /,\%bh H DT, =Next

(Secondary), the second CD is the one which they played ethnic music of the world powerfully
(vigorously) with a dram of that area and .....
*JBZ U o = played = <plain-style-past-affirmative> of j&Z= L £ 9 (play, make music with a

musical instrument)
* T — To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] <’ is used .

We call them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well.

te-form of an adjective and a noun can be used in either the nonpast sentence or the past
sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] <’ is also used to be more

formal. /
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E%L\‘C L% = <plain-style-nonpast-affirmative> of F&\L\T L\EK 9 = be listening now

*FEE £ 9 g1 =listen

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
= and naturally (consequently) .....

%%\ = force, strength, might, vigor, energy + ' <subject particle> /

5% WT &9, =start to gush forth

*BE X I g1 = boil, grow hot, get excited, gush forth

* [te-form] & E 9 = 1. go there to do .... and will be back

2. start to do, begin to do
3. (with the past tense,) have been doing ... so far //

Secondary, the second CD is the one that they played ethnic music of the world powerfully
(vigorously) with a dram of that area, and when | listen to it, the power comes out.

SAE A

3#FHB (&, =the third CD + & <topic particle> /
RAZVWARD

FRAFIC = according to an era

F v S
7T o Iz % = the songs which became popular + Z <direct-object particle> /

* 5;%?%9 = = became popular = <plain-style-past-affirmative> of #4170 £9 g1 (be popular,
come into fashion)

E&Dﬁ: CDT. =(X)isthe CD that (Y) collected

* £ 67z = collected = <plain-style-past-affirmative> of £ % 9°g2 (gather, collect)

* T — To join the sentence which ends with [i- adjective / na-adjective / noun] 9’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used .

We call them te-form of an adjective and a noun. To join adjectives, we also use te-form of an
adjective. And it is sometimes used to show reason as well.

te-form of an adjective and a noun can be used in either the nonpast sentence or the past
sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /
— (X) is the CD that they collected the popular songs according to an ear and ....

E%L\‘C L% = <plain-style-nonpast-affirmative> of F&\L\T L\ &K 9 = be listening now
*FEE FE 9 g1 =listen

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
&. =....and naturally (consequently) .....

%@ ﬁ%{}t’& = that era (period, age) + Z <direct-object particle> /

%\L\gj L&Y =recall/

o =....,isntit?; ....., am | right? <confirmation particle> //
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The third CD is the one that they collected the popular songs according to an era, and when |
listen to it, | recall that era.

<UL7T. =and/
TN

=, =thelast/
SAIE A O

4 FB(F. =the forth CD + (& <topic particle> /
bl 2VWEA 2

FADY &I U7 CD T, = (X) is the CD which | released recently
* 1 U 7o = took out = <plain-style-past-affirmative> of i L &9 g1 (take out) //

And the last CD, the forth CD is the one which | released recently.

TVWEA T ED

53R FHM £Fnic DT, =because my child was born recently

* 4 ¥/ = was born = <plain-style-past-affirmative> of £FX1.EX 9 g2 (be born)

* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M C = because ~

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be
more formal. /

ZED S = &<

FHIC B> T EFEME 20y BIEHYD %Z = only music (songs) which | want to sing for a child and
make him listen to &=

*BHo>T=F;,>, £LT. =singand....

* 8> = <plain-style-nonpast-affirmative> of FAL\E 9 g1 = sing

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.
* EEHE fz\L) = <plain-style-nonpast-affirmative> of EEh\t 7z\L)\ T 9 = want to make (a person)

listen to
* BEHE £9 = make (a person) listen to = causative-verb of J&§= &£ 9 g1 (listen)

* [masu-form] 7zUL\ T 9 = want to do ~ //

E"F:&)T\ =&EHF UL, LT, =collected (gathered) and ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

?’Iéo T H#F U T, =tried to make

*fED £9 g1 = make, create

* [te-form] & & 9 = try to do ~, do ~ and see how //

Because my child was born recently, | tried to collect only songs which | want to sing for children
and let them listen to. &
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/I\ﬁ.i_\ = oh, yes?, really? <often used to show admiration>

Z 0)(})\t > C. =talking of this person,

PAQA ek ok oke

* 57T = & <quotation particle>

* ©7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~’, “They
say that ~, People say that ~’, ‘(X) say that ~’.

* We often use ~ - T or ~ & WL\ 5 DI to indicates the thing which we don’t know about much

before asking a question.
* We also often use ~ - 7T or ~ & L\ 5 DI to make the topic (what you are going to talk

about) very clear.

AQAQA Q% ake

St

FH = song + H(also) /

S

S = <plain-style-nonpast-affirmative> of #\L\E 9 g1 = sing

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] A T’ =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

— A, can be changed to @. /

o =....,isntit?; ....., am | right? <confirmation particle> //

Oh, this person sings a song as well.

F2:
[Fh & 2, =ltistrue.

* [na-adjective, noun] /Z = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9 ' =is

(are, am)
*Ro =...,isn'tit?;....., am | right? <confirmation particle> /

prL B 5F

oo IBEULT A& S D2, =1shall try to apply for it, | wonder.
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*I5E U £ 9 = apply

*IBELT H#XT =try to apply

* [te-form] & E 9 = try to do ~, do ~ and see how

* ~ #H & D =volitional-form of ~AFX T

* volitional-form / [masu-form] & U & 3 =1 Let’s do ~ together. 2| shall do ~

* hVi& = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] h\/& = ...... , | wonder? //

I\zﬂ_.? = What? Really? (used to express surprise) /

Z CDU)\th Z“:)r’K = song of this person /

H%L\’C & Tz \\ = <plain-style-nonpast-affirmative> of F&\L\ T & 72 L\TJ = want to try to listen
*FEE £ 9 g1 =listen

* [te-form] & E 9 = try to do ~, do ~ and see how

* [masu-form] 72WL\C9 = want to do ~ /

M ? = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] L TIHV =...... , | wonder?

— A can be changed to @. //

What? Do you want to try to listen to this person’s singing?

F2:
Z2O U2 < To =%F2 U® (or TRK) HDODFHFA ZUT. =ltisnotsoand ...... ; It is not

like that and ....... //

DL EWEA £% LD

fh. BE & BERTLEWL D Ko =1 cannot sleep well at night recently.

* IR 78 LY = cannot sleep = <plain-style-nonpast-negative> of Bk & 3 (can sleep, be able to
sleep) which is the potential-verb of B D &9 g1 (sleep)

* D = A IZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun]
da’ becomes ‘na’.)] L T9 ' =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....
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— A can be changed to .
* Ko =...., you know? ; ..... | tell you. ; ....., | am convinced. //

eh 5. =therefor, so/

D ZX% = this person + ¥ (also) /

ﬁ%% %LC = before sleeping

* &% = <plain-style-nonpast-affirmative> of E%£ 9" g2 (sleep)

* [dictionary-form] & Z_IC = before doing ~ /

H%b\‘c % = FEULT L3 = <plain-style-nonpast-affirmative> of F&L\T LWEJ = be listening now
*BFEEF 9 g1 =listen

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

2T = & <quotation particle> /

% o2 fc= %3 T LWz = was saying = <plain-style-past-affirmative> of § 2T WX =be

saying now
*EWEXT g1 =say

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
Uo =|[plain-style] L = ~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~

<often used to list reasons> Y< We can use the polite-style right before L to be more polite. //

Therefore (I will apply for it). Because this person also said that she listened to it before
sleeping, and what’s more .....

3. = Ah! (expression of surprise, recollection, etc.), Oh!/

% > 51, =that way (But it means ‘that one’ in this conversation.)

* %25 =less polite than €5 5 = that way

* We often use = > 5 (or Z5 5) to refer to the thing which we cannot see. In such a case, %
-5 (or %5 5) means ‘that, that thing, that one’.

U . =then, if that is the case /
1<

%%t =lalso/

&5 F

J6E U & S =1 shall apply = volitional-form of [5Z& U £ 9 g2 (apply)
* volitional-form / [masu-form] & U & 3 =1 Let’s do ~ together. 2 | shall do ~/
W73 = [[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H\7& = ...... , | wonder? //
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Then, | also shall apply for it, | wonder.

Lh S

L&50L St
HWoATT &L LA ;> T % ED F - T =talking of the old songs which my boss often

sings at Karaoke
* 5] = superior authorities, boss

*M>T % =T;> T L)S = <plain-style-nonpast-affirmative> of #> T L\X 9 = be singing now
*BRWE T g1 =sing

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>
PAQAQA g% oke

* 57T = & <quotation particle>

* - 7C at the end of the sentence is often used to mean, ‘I hear that ~, | heard that ~’, “They
say that ~, People say that ~’, (X) say that ~’.

* We often use ~ - T or ~ & WL\ 5 DI to indicates the thing which we don’t know about much

before asking a question.
* We also often use ~ > T or ~ & L\5 D& to make the topic (what you are going to talk

about) very clear.

TR

&<
LWULVERAY = good music (song) + Y <subject particle> /
B
%\ = many
A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] AL T =

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ..... — A can be changed to @. /

& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /
o =....,isntit?; ....., am | right? <confirmation particle> //

Regarding the songs which my boss often sings at Karaoke, there are many good songs.

CD 5235 AT>715 =if (X) can receive CD,
*H 5235 AT o Tz = <plain-style-past-affirmative> of 52X % ATY
*$ 5 2% = <plain-style-nonpast-affirmative> of £ 5 2. £ 9 (can receive, be able to receive)

which is the potential-verb of £ 5L &9 g1 (receive, get)
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* AT = [plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] AL T9 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— A, can be changed to @.

* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /

H%L\T & Tc L\ = <plain-style-nonpast-affirmative> of F&\L\ T & 7o L\TJ = want to try to listen
*FEEF 9 g1 =listen

* [te-form] & & 9 = try to do ~, do ~ and see how

* [masu-form] 72zL\CT9 = want to do ~ /

7%, = <used to convince oneself> //

If | can get CD, | want to try to listen to it.

F2:
FOIRNATZ. = FDIRATI D =Isee. Is that so?

* L IZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] AL T9 ' =

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ..... — A can be changed to @. //

few

A& = drum /

%.5 > 7T % =& > 7T W53 = <plain-style-nonpast-affirmative> of & > T LWEX 9 = be learning now
*BHWXY gl =learn

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

M5 = because ~

Z 25 I 9% = <plain-style-nonpast-affirmative> of > 5 IC UE 9 g3 = choose that way

(But it means ‘choose that one’ in this conversation.)
* %25 =less polite than 5 5 =that way
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* We often use = > 5 (or ©5 5) to refer to the thing which we cannot see. In such a case, %
-5 (or 5 5) means ‘that, that thing, that one’.
* (A) Z [stem of i-adjective] < ULE T, (A) Z [stem of na-adjective] IC UL E T = make (A)

[adjective]
*(A) %Z [noun] IC UZE 9 = make (A) [noun]

* [noun] [ U &9 = decide on [noun], choose [noun], order [noun] /
é: <quotation particle> /
/L,\’D fco = thought = <plain-style-past-affirmative> of B\L\EX 9 g1 = think //

Because you are learning how to play on a drum, | thought that you would choose that one.

B

BrZ D& W

&5 EF
LZDOMNE EDCDIC [HEL 72\ & E5T WETH. = Which CD does the woman say she

wants to apply for? 8-

1
18 DCD

2
27 DCD

3
3&uDCD

4
4FEDCD

B2

B V&

BOANIE ED CDIC FE%L/ e & 5 .:. = 27T WXIH, =Which CD does the man say he wants
to apply for? &

1
18 DCD

p)
2% DCD

3
3&mDCD
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4 DCD
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